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Add 2 or more fracti-ons"

a Complete the additions.

1,2
575~
1.3 _
575
2.3, o Complete the additions.
8 8
2.3 8 .6 _ -
aF+7= TR
d) 3,1
8" 3
3,4_ = 4.4.6_ =
b) J+7=| |= DT
e Complete the part-whole models.
4 ,.3_ - 3,3,8_ =
a) b) HEIE=| [= R TR TIAET
dg+g= hJ+2+3
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What could the missing numerators be?

Give four different possibilities.

+ =
4 4 4
+ =32
4 2 4

+ =2
4 2 4
+ =
4 4 4

O/\QU.QV&Cj'Q

6 ) Complete the number sentences.

—_
w

3 = —Z- & - — = | —
Dg*Ts 8 R e B
3 4 7
—_— = —_ I —— 1—
b) Rl 1 f) =+ 5 : 5
3 _ 5 3
) T + =1 g) =+ > + 5= 2
4 11 5 5
—_— = —_—= 1——~ —_— — 3
d3+=5 =79 9 hZ+=57+73
Challenge
) Rosie, Whitney and Teddy have each been for a walk.
Rosie walked ;53‘ km.
Whitney walked %— km.
Teddy walked —;’— km.
a) How far did they walk altogether? km
e
b) Jack also went for a walk. u
Altogether the four children walked 3 km. -
How far did Jack walk? km




